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#include <ozone.h>

Accelerometer3B myG(2); 1 R ERESETRE 2

uintl6_t g_wAnglel;

uint8_t g_bAngle2;

intl6_tg_iFx, g_iFy, g_iFz;

void setup()

{

}

Serial.begin(115200);

while(!Serial);

void loop()

{

myG.GetXYZForce(g_iFx, g_iFy, g_iFz);

myG.GetAngle3D(g_wAnglel, g_bAngle2);

Serial.print("'fx="");
Serial.print(g_iFx);
Serial.print("* fy="");
Serial.print(g_iFy);
Serial.print("  fz=");

Serial.print(g_iFz);

Serial.print(* 3D Angle="");
Serial.print(g_wAnglel);
Serial.print(* 2D Angle="");
Serial.printin(g_bAngle2);

delay(200);
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